1ST—PRINTING - NV

FFFH IR RDRIDRH DR IR IDDEDDIDD IR I IIIFEGE

SEGA

Q[ R

UPRIGHT TYPE

OWNER’S MANUAL

SEGA ENTERPRISES,LTD.

BPPPPFRFEFPPPPFPEFPPPPPPPPPPPPPPPPPPF

MANUAL NO. 420-5305—02

FbIIIHREHDIDRDIDIDDDDBDRDDDD DD DIHDDDDRD DRI DRI IR FFFHFFFFFFoGE
PPRPPPFPPPPFRPRPPFPPPPPPPPPPPPEPRPPPPPPPPPFPPFPPPPPPPPPPPFPP

&5

R






—
.

® ® N ;o oo

bt b pd ek e
O S

Dok
&

TABLE OF CONTENTS

INTRODUCTION OF THE OWNER’S MANUAL -occvvrorerrrreerrees 2
HANDLING PRECAUTIONS  roccreorreeonetatatt ittt 2
PREVENTION OF COUNTERFEITING AND CONVERSION  -ccooceeeeeerereeeene 3
PRECAUTIONS CONCERNING THE PLACE OF INSTALLATION  ----ovveeeeeee 4
NAME OF PARTS veeteeernsummtnnetunetttttntt ettt et aaet e eeaarain e 5
SERVICING THE HANDLE UNIT AND WINDOW MASK ---ceeeererereerireeees 6
DISASSEMBLING AND ADJUSTING THE HANDLE UNIT -ccococvveeereeneeeeenes 7~8
DISASSEMBLING AND ADJUSTING THE ACCELERATOR AND BRAKE:------ 9
ADJUSTING THE ACCELERATOR/BRAKE POTENTIOMETER  -----cveceveeeee 10
ADJUSTMENT OF THE SERVICE SWITCH --rcoocoveeererrre 11
INSTRUCTION OF BOARD AND CONNECTORS v ovrererrereernnmnntaaiaiii. 12
DIP SWITCH SETTING  cccceeeeereterennemmunttntatta ettt 13
EPROM/ROM LOCATIONS  crreeeeeersteenmmnnetitti ettt 14~15
SELF —TESTING - rcererrerrnmrenmtenet ittt ettt 16~22
o £ T ) 1 M 23~ 39
WIRING DIAGRAM oo 40
UPRIGHT TYPE
SPECIFICATIONS

INSTALLATION SPACE : 630 mm ( 25 in.) WX 970 mm ( 38 in.) D

HEIGHT 11815 mm (71.5in.)

POWER 1250 W

C.R.T. 1207

WEIGHT 1 110 kg (242.5 1bs)

NOTE

o Descriptions herein contained may be subject to improvement

changes without notice.



INTRODUCTION OF THE OWNER’S MANUAL

SEGA ENTERPRISES, LTD., supported by its high electronic
technology of LSIs, microprocessors, etc. and a wealth of
experience, has for more than 30 years been supplying various
innovative and popular game machines to the world market. This
OWNER' S manual is intended to provide detailed comments
together with all the necessary information covering the opera-
tion in general of electronic assemblies, electromechanicals,

servicing control, spare parts, etc. as regards the OUT RUN,

a new SEGA product. The manual is intended for those who have
knowledge of electricity and technical expertise especially in
ICs, CRTs, microprocessors, etc. Carefully read so as to acguire
sufficient knowledge before working on the machine. Should there
be a malfunction, non-technical personnel should under no

circumstance touch the interior system.

1. HANDLING PRECAUTIONS

When installing or inspecting, be very careful of the
following points and pay attention to ensure that the player

can enjoy the game safely.

Be sure to turn the power off before working on the machine.
o To insert or pull out the plug gquickly is dangerous.
It is necessary to make sure that the power cord or the
grounding wire is not exposed on the road, etc. in a manner
so as to be dangerous. Make sure that grounding connections
are made safely at the position where so specified.
o Do not use any fuse that does not meet the specified rating.
o Make complete connections for the IC board and other

connecters. Insufficient insertion is very dangerous.

Also, for the IC board circuit inspections, only the logic
tone is allowed. The use of a tester is not permitted, so be
careful in this regard. After confirming that there are no

irreqularities, turn the power ON.

_2__



2.

PREVENTION OF COUNTERFEITING AND CONVERSION
LABELLING

To prevent counterfeits and conversions, the following
labels are put on all the SEGA products. When handling such
goods, be sure to confirm the labels. They are used to
prevent illegal acts such as the unauthorized copying of the
products and the printed circuit boards thereof or carrying
on business by manufacturing similar merchandise or by

converting, selling or using such products or printed
circuit boards.

ORIGINAL SEAL LICENSE SEAL

The following seal is put on The following seal is put on the

the machines manufactured by kits, such as the printed
SEGA. circuit boards, of SEGA
products.
SEEA | . SEEA

AU TR i

ORIGINAL SEAL 5 LICENSE SEAL

T 15 DESIGNED 7 o THIS PRODUCT. IS

TH;:DPVS:LCMETUREU BY B . MANUFACTURED UNDER
, 3 5 v Y THE CENSE OF

SEGA ENTERPRISES 1TD I 000 L S L

CoeLICENSE
©..0UT RUN

NO . £ NQ.

SEGA ENTERPRISES LID g: ‘o, SEGA ENYFRPMSFS LTo

JAPAN . JAPAN
“p S g o o o o o o e e G o ops o oo wps o oy g

ORIGINAL = |4
OUT RUN |

A ehe e b whe <he i b e oo oo oo o T
ao oo Aide e Ao ol <
B e e ah ke i SRR

COPYRIGHT NOTICE

This SEGA product has the copyright notice as follows:

© SEGA 1986

This signifies that this work was disclosed in 1986 and is the
property of SEGA ENTERPRISES, LTD.



3.

PRECAUTIONS CONCERNING THE PLACE OF INSTALLATION

The OUT RUN 1is an indoor game machine. Absolutely do
not install it outside. Even indoors, avoid installing in

places mentioned below so as to ensure proper usage:

Places subject to rain or water leakage, or condensation due
to humidity.

In the proximity of an indoor swimming pool and/or shower.
Places subject to direct sunlight.

Places subject to heat sources from heating units, etc., or
hot air.

Vicinity of highly inflammable/volatile chemicals or
hazardous matter.

Sloped surfaces.

o Vicinity of anti-disaster facilities such us fire exits and

fire extinguishers.

o Places subject to any type of violent impact.

Dusty places.



4. NAME OF PARTS

DESIGN PLATE OUT RUN
423-0031

20" MONITOR
200—-5090

WINDOW MASK
KR-1068

PLAY INST SH
422-0168

ASSY CONTROL PANEL
KR-11001
ASSY SHIFT LEVER

‘ / KR-13001

START BUTTON ~__

COIN ENTRY -~

- ASSY ACCEL & BRAKE V/R
" KR-12002

TOOLS
(TAMPERPROOF WRENCH) (TAMPERPROOF WRENCH)
M4 540-0006—-01
M5 540-0007-01 M4 540-0018
M6 540-0015-01 M5 5400017

M8 540—0009-01




5. SERVICING THE HANDLE UNIT AND WINDOW MASK

TAMPERPROOF SCREW
M5x16

/RN
§

’ l FRAME UPPER

w KR~1065
-

DESIGN PLATE OUT RUN
423-0031

_—~WINDOW MASK
" KR—1068

WINDOW GLASS —
HN-1039X

&\ TAMPERPROOF
/;g SCREW M8x30

TAMPERPROOF ~
SCREW M4x16

N
S ASSY CONTROL PANEL
KR-11001

7

—
CABINET

@® The HANDLE UNIT can be opened towards you by taking off the 3
TAMPERPROOF screws.

@ To remove the WINDOW MASK from the cabinet, take off
the TAMPERPROOF screws (M4X8) inside the WINDOW MASK.

@ Next open it towards you.

This allows for the clearing of the monitor screen (CRT
surfaces) .






















































































































